4 3 2 W
R N A — e REVISIONS
ALL RIGHTS RESERVED. AENDERUNGEN
@ COPYRIGHT — By — ALLE RECHTE VORBEHALTEN HA 10 = R DESCRIPTION DATE DWN | APVD
BESCHREIBUNG
D2 | AS PER ECR—16-009336 07DEC2016|GCMMKO
1.6 SCREW TERMINATION 3 M3x10 1 (RIMP TERMINATION L M3x10 Ji SPRING CLAMP TERMINATION 5 M3x10
‘ | 3 ‘ | [ — = - I — —) I gt W m‘
O e e @W Lt j_?:)c:c:)@@ @ LN @ —
220222 UL & 00000 HL fil_= N L s
7.8 \ | E‘r%j [T L] . \ | %j [T L] . %j 1 O] o
i | | 5 T_l \ 5 N - | | 5 ] \ 5 N - | | 5 sl lIll=s "
: : | :
- L95 _ 16 78 - 495 _ 16 ] 495 16
- 56.5 _ 228 _ ’ - 565 _ 228 _ B 56§ N 278
\ .
I Panel cut-out for confact insert
@h when used without housing
A bling instructi Sti %I"‘-% ! M3
ssembling instruction NN . L35 .
Confact arrangement / vi ination si a8
g view from termination side DISTANCE EOR SAFETY \ " | | —
CONTACT MARKING MAX. 24 mm Bu o~ @
@ © o 0 0 o apulIn J %
© 0o 0 0 o @ 4 hd
(TN} LJ L L (TN}
oa|lal|a o|o 495
w (%] wv wv) v
o [aa) [aa] [aa] 2]
o o o o o
L b fixing screw stainl. steel blank/even 8 [M3x10
& & & L | L | & |fixing screw Stahl/steel nickel plated blue 7 [M3x10
NOTES l socket insert screw PBT light beige 6 | with AU contact
1 cover spring strain clip PBT light beige 5
1 SUITABLE CRIMP CONTACTS: SERIES HE/HA - : :
OUTER DIMENSIONS OF INSULATION: MAX. @3,2 MM 1 l 1 cover crimp PBT light beige L
2 SUITABLE HOOD SIZE 2: SERIES HA; HD 1 1 1 1 1 1 lcover screw PBT [|gh1‘ beige 3
SUITABLE INSERTION AND EXTRACTION TOOL: . . —
SCREWDRIVER 0,5x3 DIN 5264 1 sockef insert spring sfrain clip PBT light beige 2
3 Strip lenght: Screw conection 10mm , . ) )
Spring clamp conection 10mm Crimp conection 7.5mm 11111171 (1 1 1 11 |socketf insert crimp&screw PBT light beige 1
‘ S&Aé'ﬁﬁfg%? DIN EN 60664-1 142114010E9l0-8l0-4{0t6l0L5|7-112-3]1-1 DESCRIPTION / BENENNUNG MATERIAL Surface COLOR / FARBE ITEn o NOTES
/5\ PACKAGING ANALALALALALALALALA THIS DRAWING IS A CONTROLLED DOCUMENT. |P& 08.02.2000
* |_Schneider = .
& 10/SETS IN A CARTON, PRE-MOUNTED > DIESE ZEICHNUNG IST EIN KONTROLLIERTES DOKUMENT CHg h 08.02.2000 - TE Te Connectivity
SPECIAL PACKAGING @ , chweiger
A 200 PIECES IN A KANN-BAN BOT = o %{EE%@%%%EE%?Q&LE@EB: eV = [NAvE
'150P0EE’IIQIC_EF;AIEIK: EIITSN—BAN BOT o 1Y Dl<g |4 & & 0 PLC e PRODUCT SHED Socket nsert
Wl | o 2|3 ~ 1 pPLC # RIS e Buchseneinsatz HA.10.Bu
J:_ CID 3:_ OI >I L /I> U ; E@ 2 PLC + WO8*74007
wiliblpwlovwn|lnlp|ldblvuonjloulwvm]|F 3 PL +_ APPLICATION SPEC -
v I o T e v e R T = .~ T I B e T I~ 4 pIC + - VERARBEITUNGSSPEZ SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
[ar s n T [NaTa T a m R [ AR a AT i ARy ya @ g Ja A T la'n [ I GLES /WINKEL £ — 114—-74009 ZEICHNUNGS-NR NUR FUER
Sz SE SE S S SE SE S S S g MATERIAL FINISH/OBERFLAECHE/FARBE \é\/EE\\A(/B‘}E{;T AB 00779 @DW W 054" 5 _
;E ;g ;E E E EE ;E E % % B A - SCALE SHEET oF REV
C C CUSTOMER DRAWING/KUNDENZEICHNUNG wressas] 1 oAt 1 o] D2

1470-19  (1/15)




